
d�+ç>·V�²D²Ôá�¿£ eTÖý²«+¿£qeTT ` I -2016-2017
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(Ôî\T>·T MT&�jáT+)

bÍsÁT¼ - m Ê _

ÔásÁ>·Ü : 9                  >·]w�÷ eÖsÁTØ\T : 40 d�eTjáT+ : 2:45 >·+öö

d�Ö#áq\T :
1. ç|�Ü ç|�Xø�qT u²>± #á<�e+&�.
2. bÍsÁT¼ ` m d�eÖ<ó�qeTT\qT d�eÖ<ó�q |�çÔáeTTýË s�jáT+&�.
3. bÍsÁT¼ ` m ýË eTÖ&�T �d¿£üqT¢ ¿£\eÚ.
4. ç|�Ü ç|�Xø�Å£� d�eÖ<ó�q$TjáT«+&�.
5. ç|�Ü Èy��TqT d�Îw�¼+>±, #á¿£Ø>± ¿£q|�&ûý² s�jáT+&�.
6. �d¿£üqT ̀ 3 ýË n+ÔásÁZÔá m+|¾¿£ ¿£\<�T.

�d¿£üqT - I
>·eT�¿£ :

1. n�� ç|�Xø�\Å£� d�eÖ<ó�qeTT\T s�jáTTeTT.

2. ç|�Ü ç|�Xø�Å£� 1 eÖsÁTØ.      4 x 1 = 4 eÖsÁTØ\T

1. »»çÜuó�TÈeTTýË� eTÖ&�T ¿ÃD²\ yîTTÔáïeTT 180° nqT y�¿£«eTTqT yûs=¿£ $<�+>±

e«¿£ï|�sÁ#áTeTT .
2. |�³eTT qT+&� x $\TeqT ¿£qT>=qTeTT?

 3. ç|�¿£Ø |�³+ qT+&� x $\TeqT ¿£qT>=� ¿±sÁD²\qT Ôî\|�+&�.

4. 10, 12, 18, 10, p <�Ô�ï+Xø d�>·³T 10 nsTTq p $\Te ¿£qT>=qTeTT.

�d¿£üqT  - II
>·eT�¿£ :

1. n�� ç|�Xø�\Å£� d�eÖ<ó�qeTT\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 2  eÖsÁTØ\T.    5 x 2 = 10 eÖsÁTØ\T

5. ç|�¿£Ø |�³eTTýË AB // CD nsTTq

m $\TeqT ¿£qT>=qTeTT.

eÖsÁTØ\T : 30                      bÍsÁT¼ - m
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6. A,B,C _+<�TeÚ\T ÿ¹¿ d�sÁÞø¹sK �|Õ >·\ _+<�TeÚ\T. eT]jáTT B _+<�TeÚ, A  eT]jáTT C,
eT<ó�« �q�~. nsTTq AC-AB = BC n� �sÁÖ|¾+#á+&�?

7. x =           d�ÖçÔáeTT q+<�T x, Sxi‚ n \qT >·Ö]Ì $e]+#áTeTT.

8. fÉ© b�þH� &�bÍsY¼yîT+{Ù y�Þø�ß �|�¹s³sY �<Ã«>·eTT\Å£� <�sÁU²d�Tï\qT �V�äÇ�+º].yîTT<�{,

Âs+&�e, eTÖ&�e eT]jáTT H�\Ze sÃE kÍjáT+çÔáeTT\Å£� esÁTd�>± 15, 40‚ 85‚ 100
<�sÁU²d�Tï\T eºÌq$. � d�eÖ#�sÁeTTqÅ£� båq:|�Úq« $uó²Èq |�{ì¦¿£qT ÔájáÖsÁT#ûjáTTeTT.

9. Âs+&�T d�+|�PsÁ¿£ ¿ÃD²\T 4:5 �w�ÎÜïýË �q� � ¿ÃD²\qT ¿£qT>=q+&�?

�d¿£üqT - III
>·eT�¿£ :

1. n�� ç|�Xø�\Å£� d�eÖ<ó�qeTT\T s�jáTTeTT.

2. ÿ¿=Ø¿£Ø ç|�Xø� qT+º ÿ¿£ <��� eÖçÔáyûT mqT�¿=qTeTT.

3. ç|�Ü ç|�Xø�Å£� 4  eÖsÁTØ\T.    4 x 4 = 16 eÖsÁTØ\T

10. (a)  6 �d+.MT. uó�TÈeTT ¿£\ d�eTu²V�Q çÜuó�TÈeTTqT �]�+#áTeTT.

(ýñ¿£)

      (b)   ABCD #áÔáTsÁTÒÈeTTýË AD = BC; AC, BD \ K+&�q _+<�TeÚ ‘o’ eT]jáTT

  ÐDAB = ÐCBA nqTd�eÖ#�s��� |�³sÁÖ|�eTTýË e«¿£ï|�sÁº � |�³eTTýË @sÁÎ&�q

  çÜuó�TÈeTT\ �|sÁ¢qT çy�jáTTeTT.

Sxi
  n



11. (a)   ç|�¿£Ø |�³eTTýË LM, NP \T

   R e<�Ý K+&�+#áTÅ£�+{²sTT.

  ÐL = 90°, ÐN = 45° eT]jáTT ÐM = 90°
   nsTTq ÐLRN, ÐPRM and ÐP.
         ¿=\Ôá\qT ¿£qT>=qTeTT.

(ýñ¿£)

      (b)   ç|�¿£Øq �ºÌq |�³eTTýË x, y, z $\Te\qT ¿£qT>=qTeTT.

  �¿£Ø&� PQ // RS.

12. (a)  ç¿ì+~ |�³+ýË OP, OQ, OR eT]jáTT OS H�\T>·T ¿ìsÁD²\T nsTTq

0360POSSORQORPOQ =Ð+Ð+Ð+Ð  �sÁÖ|¾+#á+&�?

(ýñ¿£)

      (b) ç¿ì+~ <�Ô�ï+XøeTTqÅ£� d�>·³T eT]jáTT u²V�QÞø¿£eTT\qT ¿£qT>=� � <�Ô�ï+Xæ�¿ì 3 nHû

¿=Ôáïs�¥� ¿£\|�>± @sÁÎ&�q <�Ô�ï+Xæ�¿ì d�>·³T eT]jáTT u²V�QÞø¿£eTTqT ¿£qT>=q+&�?

d�>·³T eT]jáTT u²V�QÞø¿£eTT\ eÖsÁTÎqÅ£� >·\ Ôû&�Å£� ¿±sÁD²\T Ôî\Î+&�?

6, 12, 14, 7, 8, 14, 6.
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13. (a)   AB, CD, ED, GH ¹sU² K+&�\ d�>·³T bõ&�eÚ 45 �d+.MT. eT]jáTT AB = 60�d+.MT;
  GH = 40 �d+.MT; CD = EF nsTTq AB, CD, EF, GH \ eT<�«>·ÔáeTTqT ¿£qT>=qTeTT?

(ýñ¿£)

      (b)  ÿ¿£ d¾�eÖ V�ä\T q+<�T sÁÖ. 60 {ìÂ¿Ø³T¢ 40, sÁÖ. 80 {ìÂ¿Ø³T¢ 72, sÁÖ. 100 {ìÂ¿Ø³T¢ 78,
  sÁÖ. 120 {ìÂ¿Ø³T¢ 60 neTT�&�TbþsTTq$. � <�Ô�ï+Xæ�¿ì |�{ì¼¿£qT ÔájáÖsÁT#ûd¾

  n+¿£eT<�«eÖ�� ¿£qT>=qTeTT?
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d �+ç>·V�²D²Ôá�¿£ eTÖý²«+¿£qeTT ` I -2016-2017
>·DìÔáeTT ` �||�sY ` 2

(Ôî\T>·T MT&�jáT+)

bÍsÁT¼ - _
ÔásÁ>·Ü : 9                 >·]w�÷ eÖsÁTØ\T : 10

$<�«]Æ �|sÁT :........................................................................ sÃýÙ Hî+ : .................

eÖsÁTØ\T : 10                      bÍsÁT¼ - _
d�Ö#áq\T :

1. bÍsÁT¼ ` _ ýË� n�� ç|�Xø�\Å£� Èy��T\T çy�jáTeýÉqT.
2. ç|�Ü ç|�Xø�Å£� 4 Èy��T\T ¿£\eÚ. d�]jî®Tq d�eÖ<ó�qeTTqT d�Öº+#û �|<�Ý

n¿£�sÁeTTqT ç|�Xø�Å£� m<�TsÁT>± �q� çu²Â¿³¢ýË �+#áTeTT.

3. Èy��TqT ~~ÝÔû eÖsÁTØ\T |�]>·Dì+#á�&�eÚ.

4. n�� ç|�Xø�\Å£� d�eÖq eÖsÁTØ\T ¿£\eÚ.
�d¿£üqT - IV

d�Ö#áq\T :
1. n�� ç|�Xø�\Å£� d�eÖ<ó�qeTT\T s�jáTTeTT.

2. ç|�Ü ç|�Xø�Å£� ½  eÖsÁTØ.             20 x ½ = 10 eÖsÁTØ\T

14. |��TqeTTqT �]�+#áT³Å£� ¿±e\d¾q ¿=\Ôá\ d�+K«.                         [        ]
A)  4 B) 3 C) 2 D) 1

15. çÜuó�TC+ýË� \+�¿ÃDeTT\ d�+K«.                         [        ]
A)  4 B) 3 C) 2 D) 1

16. Âs+&�T |�PsÁ¿£ ¿ÃD²\ �w�ÎÜï 1 : 1 nsTTq �¿ÃDeTT\T. [        ]

A) 90°, 90° B) 45°, 45° C) 60°, 60° D) 30°, 30°

Q.No 2 4 5 11
14 
-
29

3 6 12
30 
- 
31

1 7
32 
- 
33

9 13 8 10

Marks
Total

Grade

AS-1 AS-2 AS-3 AS-4 AS-5

Total
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17. d�eTu²V�Q çÜuó�TÈeTTýË ÿ¿=Ø¿£Ø ¿ÃD+.                         [        ]

A) 60° B) 45° C) 90° D)  180°
18. eTÖ&�T uó�TÈeTT\ÔÃ @sÁÎ&�q d�+e�Ôá |�³eTTýË Âs+&�T ¿ÃD²\T d�eÖqyîT®q

� çÜuó�TÈeTT .....             [        ]
A) d�eTu²V�Q çÜuó�TÈeTT B) d�eT~Çu²V�Q çÜuó�TÈeTT

C) \+�¿ÃD çÜuó�TÈeTT D) \+�¿ÃD d�eT~Çu²V�Q çÜuó�TÈeTT

19. 6, 7, 8, 9, 6, 7, 8, 6, 7, 6 <�Ô�ï+Xø u²V�QÞø¿£+            [        ]
A)  9  B) 8 C) 6 D) 7

20. BsÁé #áÔáTsÁçd�ïeTTýË� ¿ÃDeTT\ d�>·³T.            [        ]

A) 45° B) 90° C) 60° D)  180°
21. BsÁé |��TqeTTqÅ£� ¿£\ eTTKeTT\ d�+K«.            [        ]

A) 6 B) 4 C) 2 D) 10
22. »» ~ m*yîT+{Ùà µµ sÁ#ásTTÔá [        ]

A) jáTÖ¿ì¢&� B) �|Õ<ó�>·sÁdt C) <óûýÙà D) B eT]jáTT C \T �<�ÝsÁT.

23. 2k + 7, 45° \T d�eÖ+ÔásÁ ¹sK\ýË d�<��Xø«¿ÃD²\sTTq ‘k’ $\Te            [         ]
A) 18° B) 19°  C) 20°   D) 21°

24. ÿ¿£ çÜuó�TÈeTTýË u²V�²«¿ÃDeTT ‘p’, n+Ôás�_óeTTK ¿ÃD²\T 35°, 45° nsTTq ‘p’
$\Te           [          ]
A) 60° B) 70°  C) 80°  D) 90°

25. Âs+&�T #áÔáTsÁçkÍï\ uó�TC²\T d�eTqeTsTTq           [         ]
A) ¿£sÁ�eTT\T d�eÖqeTT B)  ¿ÃDeTT\T d�eÖqeTT

C) #áT³T¼ ¿=\Ôá\T d�eÖqeTT D)  n$ d�sÁÇd�eÖqeTT

26. \+�¿ÃD çÜuó�TÈeTTýË nÜ�|<�Ý ¿ÃDeTT           [         ]
A) \+�¿ÃDeTT B) $TÐ*q Âs+&�T ¿ÃDeTT\ yîTTÔáïeTTÈÅ£� d�eÖqeTT

C) A eT]jáTT B \T ÿ|�ÚÎ D) @B¿±<�T

27. yîTT<�{ì 8 ç|�<ó�q d�+K«\ d�>·³T [        ]
A) 8 B) 9  C) 7  D) 11

28. a, b, c \ d�>·³T 10 nsTTq a+5, b+5, c+5 \ d�>·³T [       ]

A) 15 B) 20 C) 25 D)  30



29. MT d�ÖØ\T fÉ®+fñ�TýÙýË ¿£\ d��̈Å£�¼\ýË u²V�QÞø¿£|�Ú d��̈Å£�¼.             [        ]
A) Ôî\T>·T B) >·DìÔáeTT C) �+ ¢̂w�§        D) kÍ+|�ÓT¿£ Xæçd�ïeTT

30. D ABC ýË AB > AC nsTTq C ________ B.            [        ]
A)  <  B) = C) > D) ¹

31. ç¿ì+~ ¿ÃD²\ ÈÔá\ýË @$ d�+|�PsÁ¿£ ¿ÃD²\T n>·TqT            [        ]

A) 40°, 50° B) 300°, 60°    C) 110°, 70    D)  45°, 45°
32. ‘D’ nqTq~ ________ qÅ£� >·TsÁTï            [        ]

A) #áÔáTsÁçd�ïeTT B) e�ÔáïeTT C) çÜuó�TÈeTT D) BsÁé #áÔáTsÁçd�ÔáeTT

33. ÈÔá |�sÁT#áTeTT             [         ]
p) ̂     x) d�sÁÇd�eÖqeTT

q) @     y) d�eÖ+ÔásÁeTT

r) //     z) \+�eTT

A) p - x; q - y; r - z B) p - z; q - y; r - x
C) p - z; q - x; r - y D) p - x; q - z; r - y

��


